

UK Agent and Promotional Management for Amazon-Angler.com

Contact: Facebook @amazon-connect.co.uk, Web: www.amazon-connect.co.uk & info@amazon-connect.co.uk

TACKLE HIRE - Rods & Reels

All rods have been selected for their quality and proven performance. Rods are fully checked prior to being shipped, to ensure all major parts are undamaged and functional. Rods can be selected in 'travel' or 'two-piece' versions, that choice is down to you, although the travel rods are far easier to manage on international / local flights. Reels, where not 'new' will be fully serviced prior to shipping and will be provided with a protective 'reel pouch'. Spare spools can be included as an additional item, as can spools of replacement braid.

Item	Description	RRP £	Cost per day	No Reg'd		
Catfis	hing & Arapaima Rods		_			
01	PENN Rampage 7'4"30-50lb boat rod 5-piece travel rod in cloth bag.	£75.08	£2.51			
02	PENN Regiment 7'10"30-50lb boat rod 5-piece travel rod in cloth bag.	£96.80	£3.23			
03	Free Spirit 'Cat-Tamer S' 10' 5.0lb TC 2 -piece in cloth bag [Rod Tube Required]	£196.90	£6.56			
Catfishing & Arapaima Reels						
04	Shimano Oceanic 12000 BC supplied in protective pouch	£183.70	£6.12			
05	Spare spool for Shimano Oceanic 12000 BC	£29.99	£0.99			
06	PENN 'Warfare' 20LW Multiplier supplied in a protective pouch	£71.45	£2.38			
Catfishing & Arapaima Miscellaneous						
07	100lb Power-Pro / Berkley Braid 300m	£29.33	N/A			
08	2-piece rod tube c/w 2 x TSA Padlocks	£85.75	£2.86			
09	Travel Rod Tube [Carry-on luggage] for up to 4 rods	£32.96	£1.09			
10	Multi-section carryall, large enough for all travel rods, reels, tackle, clothing etc. [suitable for checked in luggage] You will need to provide up to 6 padlocks / cable ties	£59.40	£2.97			

Notes:

When ordering reels, these will be spooled up with new 100lb braid prior to shipping. The cost of the braid [07] will also need to be accounted for as this is replaced for each hire so is a non-refundable cost. For leader materials, please refer to our Catfishing & Arapaima Pack on page 2.



UK Agent and Promotional Management for Amazon-Angler.com

Contact: Facebook @amazon-connect.co.uk, Web: www.amazon-connect.co.uk & info@amazon-connect.co.uk

TACKLE - Catfishing & Arapaima Terminal Tackle

The listing below which we call our **Catfish & Arapaima Session Pack**, provides a comprehensive selection of the terminal tackle most commonly used when fishing for these species. The quantities have been based on an average 7-day mixed species trip. Should your trip be longer or more focused on one species then please discuss this with us ahead of time to ensure any adjustments are made. Upon your return, items which are unused and/or reusable will be credited back to you [This also applies to our Lure Fishing Session Pack].

Catfis	hing & Arapaima Session Pack Contents				
la ana	Paraulutian.	Qty	Ind Cost	Total	Qty
Item	Description	Supplied	Ind Cost	Cost	Returned
11/1	Tackle case Med [Savage Gear / ABU / Fox]	1	£16.40	£16.40	Refundable
11/2	Leads [Sinkers] 5oz Flat Pear Gripper Leads (Textured)	10	£1.10	£11.00	Refundable
11/3	Run Rings	10	£1.65	£16.50	Refundable
11/4	Shock Beads 12mm-15mm	10	£0.71	£7.10	Refundable
11/5	Hooklink Kryston 'Kraken' 200lb braid – 10m spool	1	£15.34	£15.34	No Return
11/6	Hooklink Malin 'Hardwire' Single Strand 100lb wire 10m coil	1	£7.92	£7.92	No Return
11/7	Berkley 'Big Game' 100lb Monofilament Leader 50m spool	1	£13.75	£13.75	No Return
11/8	Swivels 120lb+ roller / barrel	10	£0.43	£4.30	Refundable
11/9	Hooks Gamakatsu / Owner 'J' in size 6/0	4	£1.08	£4.32	Refundable
11/10	Hooks Gamakatsu / Owner 'J' in size 8/0	4	£1.50	£6.00	Refundable
11/11	Hooks Gamakatsu / Owner 'J' in size 10/0	2	£2.50	£5.00	Refundable
11/12	Hooks Gamakatsu / Owner 'Circle' in size 6/0	4	£1.40	£5.60	Refundable
11/13	Hooks Gamakatsu / Owner 'Circle' in size 8/0	4	£1.68	£6.72	Refundable
11/14	Hooks Gamakatsu / Owner 'Circle' in size 10/0	2	£2.50	£5.00	Refundable
11/15					
11/16					
11/17					
11/18					
		Total Pack Cost		£124.95	
Notes		Return	Credit		

Notes:

We assume that you will be making your own 'hooklinks' up yourself, most anglers do, as it's a confidence issue. However, if you would like us to prepare these for you, please let us know. We can provide hooklinks in both braid and wire which come complete with your chosen hook format / size and swivel and between 20cm & 40cm in length [PoA].



UK Agent and Promotional Management for Amazon-Angler.com

Contact: Facebook @amazon-connect.co.uk, Web: www.amazon-connect.co.uk & info@amazon-connect.co.uk

TACKLE HIRE - Rods & Reels

As with the heavier rods. our lure rods have been selected for their quality and proven performance. Rods are fully checked prior to being shipped, to ensure all major parts are undamaged and functional. All our rods are multi-section [4 or 5-piece] for ease of travel. Reels, where not 'new' will be fully serviced prior to shipping and will be provided with a protective 'reel pouch'. When ordering reels, these will be spooled up with your selected braid prior to shipping. The cost of the braid [20 - 22] will need to be accounted for as this is replaced for each hire so is a non-refundable cost. Where available, spare spools will be included, as can spools of replacement braid.

Item	Description	RRP	Cost per day	No		
	•	£	£	Req'd		
Lure I	Rods					
12	Gamakatsu 'Akilas' 70H 5 -30g 2.1m 5 piece Suitable for [Fixed Spool Reels]	£147.17	£4.90			
13	Gamakatsu 'Akilas' 80XH - 15 -60g 2.1m 5 piece Suitable for [Fixed Spool Reels]	£153.78	£5.13			
14	Fox Rage 'Prism X' Heavy Spin 30-100g 2.4m 4 piece Suitable for [Fixed Spool Reels]	£115.49	£3.85			
15	Savage Gear 'Hitch Hiker' – 40–80g 2.13m 4 piece Suitable for[Baitcaster Reels]	£149.98	£4.99			
Lure I	Reels					
16	Daiwa 'Ninja' 4000A Fixed Spool c/w spare spool Supplied in a protective pouch. [Suggest 20 – 44lb braid]	£59.39	£1.97			
17	Seaknight 'AXE' 4000H Fixed Spool Supplied in a protective pouch. [Suggest 20 – 33lb braid]	£62.52	£2.08			
18	Shimano 'Curado DC' 151XG Baitcaster Supplied in a protective pouch [Suggest 20 – 44lb braid]	£260.69	£8.69			
19	KastKing 'Speed Demon' 9.3:1 [fast retrieve] Baitcaster Supplied in a protective pouch. [Suggest 20 – 33lb braid]	£142.74	£4.76			
Lure fishing Miscellaneous						
20	Power-Pro Braid 9Kg 20lb 0.15mm dia – 275m [Moss green]	£23.93	N/A			
21	Power-Pro Braid 15Kg 33lb 0.23mm dia – 275m [Moss green]	£23.93	N/A			
22	Power-Pro Braid 20Kg 44lb 0.28mm dia – 275m [Moss green]	£23.93	N/A			

Page **3** of **8** AC_Tackle Hire_T&C_v2



UK Agent and Promotional Management for Amazon-Angler.com

Contact: Facebook @amazon-connect.co.uk, Web: www.amazon-connect.co.uk & info@amazon-connect.co.uk

TACKLE - Lure Fishing Terminal Tackle

The listing below which we call our **Lure Fishing Session Pack**, provides a comprehensive selection of the terminal tackle, lures, spinnerbaits, jigs etc most commonly used.

Lure F	ishing Pack Contents				
Item	Description	Qty Supplied	Ind Cost	Total Cost	Qty Returned
23/1	Tackle case Large [Savage Gear / ABU / Fox]	1	£18.70	£18.70	Refundable
23/2	Tackle case Med [Savage Gear / ABU / Fox]	1	£16.40	£16.40	Refundable
23/3	Berkley 'Trilene' Monofilament Leader 30lb – 50m	1	£9.85	£9.85	No returns
23/4	Berkley 'Trilene' Monofilament Leader 40lb – 50m	1	£10.29	£10.29	No returns
23/5	Swivel Clips – Mixed ratings 20lb – 80lb [Qty 10]	1	£4.49	£4.49	Refundable
23/6	Swivels– Mixed ratings 20lb – 80lb [Qty 10]	1	£3.55	£3.55	Refundable
23/7	Steel traces 30lb	10	£1.22	£12.20	Refundable
23/8	Steel traces 50lb	10	£2.37	£23.70	Refundable
23/9	Owner 4X Treble Hooks Size 4 – Replacements for damaged hooks	10	£1.69	£16.90	Refundable
23/10	Owner 4X Treble hooks Size 2 – Replacements for damaged hooks	10	£1.90	£19.00	Refundable
23/11	Owner 4X Treble hooks Size 1/0 – Replacements for damaged hooks	10	£2.52	£25.20	Refundable
23/12	Stainless Steel Split Rings – Assorted [Qty 30]	1	£9.60	£9.60	Refundable
23/13	Deep Diving Lures – [mixed manufacturer& mixed patterns] 14cm – 18cm	2	£24.75	£49.50	Refundable
23/14	Deep Diving Lures – [mixed manufacturer& mixed patterns] 10cm – 14cm	4	£13.98	£55.92	Refundable
23/15	Deep Diving Lures – [mixed manufacturer& mixed patterns] 8cm – 10cm	4	£9.75	£39.00	Refundable
23/16	Shallow Diving Lures [mixed sizes, weights & patterns]	6	£8.88	£53.28	Refundable
23/17	Surface lures i.e. poppers [mixed sizes, weights & patterns]	4	£8.68	£34.72	Refundable
23/18	Surface lures i.e prop-baits [4.5" mixed patterns]	2	£16.25	£32.50	Refundable
23/19	Spinners and spoons [mixed sizes, weights & patterns]	10	£5.28	£52.80	Refundable
23/20	Spinnerbaits [mixed sizes, weights & patterns]	2	£12.84	£25.68	Refundable
23/21	Jigs – Stevie Stinger [mixed patterns]	4	£4.50	£18.00	Refundable
		Total Pack Cost		£531.28	
		Return	Credit		



UK Agent and Promotional Management for Amazon-Angler.com

Contact: Facebook @amazon-connect.co.uk, Web: www.amazon-connect.co.uk & info@amazon-connect.co.uk

TACKLE HIRE - Miscellaneous Equipment

The following is a list of miscellaneous items which you should either: a] have with you or b] should be considered to make your angling experience a little easier and smoother.

Item	Description	RRP	Cost per day	No
item	Description	£	£	Req'd
Shoul	d have's			
24	SPRO / Boga [Style] Lip Grippers	£44.76	£2.24	
25	SPRO [Or similar] Extra Long Nosed Pliers	£19.25	£0.96	
26	SPRO [Or similar] Short Nosed Pliers [Inc Split Rings]	£17.03	£0.85	
27	SPRO [Or similar] Heavy Duty Cutters	£20.59	£1.03	
28				
29				
30				
Nice t	o have's			
31	Fishing day bag [fits inside item 10 for travelling, and takes tackle cases along with other accessories for when out on the boat]	£48.38	£2.42	
32				
33				
34				
35				

Page **5** of **8**AC_Tackle Hire_T&C_v2



UK Agent and Promotional Management for Amazon-Angler.com

Contact: Facebook @amazon-connect.co.uk, Web: www.amazon-connect.co.uk & info@amazon-connect.co.uk

Tackle Hire Terms & Conditions

- 1. All our tackle is 'written down' over a given period [dependent upon type]. This is governed by our ability to retain within our stock of hire equipment, and to continue providing to our future clients.
- 2. You [the hirer] shall take full responsibility for the care and treatment of the hired equipment from the point of receipt from Amazon-Connect, until the point of despatch back to Amazon-Connect.
- 3. As this is a UK service only, we strongly encourage personal / hand collection and return [where logistically viable], rather than 3rd party shipping.
- 4. You are strongly advised to discuss your 'tackle hire' requirement with us well in advance of your trip dates to ensure we a] have availability and b] can ensure it is the most appropriate 'tackle' for your trip.
- 5. Once your requirement has been agreed we will confirm the total hire cost [including shipping], and the deposit required.
- 6. You are advised to make the necessary 'tackle hire' arrangements to allow receipt [3] between 3-5 days prior to your trip departure date.
- 7. Daily hire costs are taken from your actual 'trip travel' dates i.e. your UK departure date to your UK return date.
- 8. The deposit which shall represent the full replacement cost of the 'hired tackle' shall be paid to Amazon-Connect prior to shipment to / collection by you.
- 9. PayPal Payment preferred. We will provide payment details at time of order.
- 10. Once your 'tackle' has been received, you will promptly inform us of any damage or missing items within 24hrs of taking receipt of the shipment. A 'Missing / Damaged Items Form' will be included within your shipment.
- 11. Throughout the duration of your trip, you are requested to treat all 'hired tackle' with respect and care and should endeavour to protect rods & reels from being damaged. Special care should be taken with rods to protect them from unnecessary 'bouncing' or 'other contact' with hard surfaces i.e. boat gunwhales during what can often be vigorous boat trips.
- 12. Should any damage occur, you should use the 'Damage Report Form' which will be included with your shipment.
- 13. Once back in the UK, you will ship (insured to the appropriate value) the 'hired tackle' back to Amazon-Connect [at your cost] within 3-5 days or make the necessary arrangements to personally / hand deliver.
- 14. Once received by Amazon-Connect, the returned 'hired tackle' shall be checked for any damage, over and above that considered 'fair wear & tear' or as identified in [12]. Should such damage be present, we will contact you directly to discuss / agree any additional charges.
- 15. Where you are returning items from 'Session Packs', we will only consider a refund against unused items, or those that we can confidently return to our stock of hire equipment. A 'Returns Form' for this will accompany your shipment.
- 16. Upon agreement on any matters of damage, we will refund the initial deposit taking into consideration any items being refunded [15], less the agreed hire costs [5] and less any costs associated with the jointly agreed damages [14]. This will be undertaken within 5 Working Days.
- 17. Note: the tackle provided under this agreement, remains the property of Amazon-Connect at all times.

Page **6** of **8** AC_Tackle Hire_T&C_v2



UK Agent and Promotional Management for Amazon-Angler.com

Contact: Facebook @amazon-connect.co.uk, Web: www.amazon-connect.co.uk & info@amazon-connect.co.uk

Tackle Hire

Your Quotation

The following assumptions have been made in compiling this quotation:

- You are joining Which Trip
- The duration of your trip [UK departure date to UK return date] is XX days.
- You XX
- You XX

				<u> </u>		
Item	Page	Description	Deposit / Cost	Hire Cost	Qty	Total
Catfis	hing & /	Arapaima Rods				
Catfis	hing & /	Arapaima Reels				
Catfis	hing & /	Arapaima Miscellaneous			l	
		•				
Catfis	h & Ara	paima Session Pack				
Lure R	Rods					
Lure R	Reels					
Lure F	ishing N	Miscellaneous				
Lure F	ishing S	Session Pack				
Misce	llaneou	s Equipment				
		Total Cost / Deposit				
		Total Hire Cost + Non-Refundable items				
		. 5.6				
		Estimated [minimum] refund*				

^{*}Estimated minimum refund is based on all 'hired' tackle being returned undamaged. It is also based on no returned items from session packs 11 & 23 [See our Terms and Conditions].

Page **7** of **8**



UK Agent and Promotional Management for Amazon-Angler.com

Contact: Facebook @amazon-connect.co.uk, Web: www.amazon-connect.co.uk & info@amazon-connect.co.uk

